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Bz =EF4 ifT4&  [OUT| IN | TOTAL
18 B2z FEH 37 37 74
2 L FE FWH 36 38 74
3&AK IE—BF [BEET 40 37 77
4 8K Bz AREEM 39 39 78
5 Ll #F k] 39 40 79
6 REH (EIFh FEN 38 41 79
7 BF F=E Ml 42 38 80
85H B & 42 38 80
9F/E A ftE™ 41 39 80
10 2R & I\#Eh 40 40 80
1 &I A= MmEEH 40 40 80
12 B# #x et 39 41 80
13 {£&F #HRER 1B 40 41 81
14 LK #Hh ke 40 41 81
15 Al && FEM 38 43 81
16 FU F1B HRM 42 40 82

17 1INE 23k W HH 39 43 82

18 £ & AREES 42 4 83
19 f2lR fi— AREEM 41 42 83
20 2% & ES R ol ] 41 42 83
21 JRfE IEfE EEH 41 42 83
22 ¥ E{# FEH 39 44 83
23 B Flx goam 41 43 84
24 BBK BX =Eza 40 44 84
25 B E# ke 47 38 85
26 #% R BT 47 38 85
27 AH ##E= I\ 45 40 85
28 Ay IEF] Ml 42 43 85
29 1k Bk IR 46 40 86
30 $5K BEHT 45 41 86
N HE Z= fotE™ 45 M 86
32 EH WRE FEH 42 44 86
B WH FiA ¥FFHE™ 42 44 86
M= —FEE mWmEEM 48 39 87
35 HH # T 44 43 87
36 KIE ffi— fiata™h 43 44 87
37 LB #hEH ot aditl 42 45 87
38 ¥AE HfA MR 40 47 87
39 £ A& izhil 44 44 88
40 FE —= ARM 42 46 88
a1 IhNdg FER et 41 47 88
42 Bk NE Ham 43 46 89
43 ;T E— FEH 46 44 90

44 [FKR B AREZEM 47 44 91
45 FrE B2 HBRFH 45 46 91

46 4B IEIE VNI 44 47 91
47 RiZ BHMEB  XKET 51 42 93
48 B JE— finta™h 49 44 93
49 FHE 2A fotE™ 49 45 94
50 AJII EF finta™h 46 48 94
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51 JKIE BE AREZEM 48 51 99
52 ¥t FHER fotE™ 46 53 99
53 luO #Fth ¥ HEST 47 54 101
54 KK BE#H EEBmH 53 49 102

ZEiE HIE LE MR 0 0 0
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R Rk IEF AR™
RE BIR #£— R ETH
REKE F= AR™
RiE XE B RARR
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